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— ~ (a) Find the transfer function of A4, (s) = o (5)

Y (5)

KS
If A,(s)= ]
(b) y () 1+a,S +a,S’

constant method.

then find the values of a; and a; by using time
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~If =75, then plot out the characteristic curve of ¥V, and V. relationship in the
following circuit. ' |
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= ~ (a) If transistors Q; and Q; are identical, then find Acm, Apm and CMRR;
(b) Find the condition of the circuit can be converted to differential amplifier.
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g ~ Find I, and ¥V, in the following cases: (a) ¥V,, =5° (b) ¥V, =2

+Vpp =5V
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0, K., =50mA/V?

Vigy =2V
o7,

0, K., =20mA/V?
+ Voo =1V
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Z ~Find: (a) A4,(s)= V"' ES; (b) w, and Q value (c) determine the type of the filter
(s
circuit. R,
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Gain A,,=R“+-Rb=l+R”>0




